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Please select on correct answer to the following questions.
1. One psychologist obtains a statistically significant F ratio for the interaction of factors A and B. This means that.
(a) The effects of Factor A are the same across the same levels of Factor B.
(b) The effects of Factor A are different across different levels of Factor B.

(c) The effects of Factor A are different across the same levels of Factor B.

2. You are interested in correlating gender of respondent with attitude toward abortion. Assuming that the attitude
measure yields data scaled on an interval scale, which of the following correlational techniques would you use:
(a) Point biserial

(b) Pearsonr

(c) biserial

3. In a simple ANOVA, this necessitates the equivalence of MSpetween and MSuwithin:
(a) Violation of the assumption of homogeneity of variance

(b) A false null hypothesis

(c) A true null hypothesis

4. Which of the following conditions would most likely lead the researcher to calculate a partial correlation?
(a) One variable is weakly correlated with another variable.
(b) Two variables are correlated with each other and with a third variable.

(c) Several participants leave the study before the correlation is calculated.

5. Some members of the population become more (or less) likely to be included in the study sample than others. This
is called: ' ' ' S

(a) selection bias.

(b) cohort effect.

(c) Flynn effect.
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2. T 4258 |, (Mediator Variable) 1 T4 4%38 , (Control Variable )
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